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Copper (Il) sulfide reacts with oxygen under standard ekl cag ke Jl 3 Oy e (1) eladll atp€ e iy
conditions to form copper (ll)sulfate as shown in the colial Aaleall 3 LS (1) Galaill i€ gl

equation below. Which of the following is correct? 4_11_, Lea gl

CUS[S} ag 303{9; . CUSD_i,:SJ

AHo= ~718.3kJ , AS%n = —368.0J/K

(3565 2 / L30EE) dlen)

0
Process (Spontaneous /| Non—Spontaneous) AG (k)

Nonspontaneous sk e +727.5

Spontaneous islib -609.0

Nonspontaneous iililh & +571.8

Spontaneous aslak =571.8

Question Type: Difficulty Level Question Lesson(s): Question Marks:

Multiple Choice Intermediate Mo specific lesson 5

i}
YR

Question Outcome Analysis

Responses

Answer Option

6.72%
[773]
72.23%

[8308]

9.67%

[1112]

11.26%



In the following table, what is the correct equilibrium éhﬁl Jelal @_-._..aﬂ OV Gl et La c*_it'.ll Jaandl *j

constant expression for the corresponding reaction? P4llz

SIEY el s s Ll
[ H.][L]
[HIT

H2(g) + I2(g) = 2HI(g)

[ Na,CO)[CO,NH,01 | 2nMaHCOsls) = NazCOs(s) + CO,lg) + H.0lg)
[NaHCO,T

[CH,][H,0]

[CO][H:JS CO(g) + 3H;(g) =" CH4(g) + H20(g)

[CaCO,]

[CaO] CaCOjsls) = CaOls) + CO,lg)

Question Type: Difficulty Level Question Lesson(s): CQuestion Marks:

Multiple Choice Intermediate No specific lesson 5

Question Cutcome Analysis i ]

EE=RENE

Answer Option Responses

3.5%
[633]
4.98%
[570]

87.57%
[10071]

1.9%
[218]




The reaction 280y, + Oy = 2505, reaches s ) duay 2805g) + Ogg) 7= 285031 Jelid

equilibrium. If the equilibrium concentrations are: e OV aie SuSIAl CulS 1M Gl
[SO;] = 0.0170 mol / L
[02]- 0.0230 mol / L
Keq is 4.32

[C2] = 0.0230 mol /L 5 [SO;] = 0.0170 mol / L
4.32 s Jeloll lagl Keq OIFY) s

What is the equilibrium concentration of SO; in mol / L f mol / L 525 SO; 1 oliY) 585 L

Question Type: Difficulty Level Question Lesson(s): Question Marks:

Multiple Choice Intermediate Mo specific lesson 5

Question Cutcome Analysis i ]

& E
Answer Option Responses

77.08%
[8864]

11.28%
[1297]
6.81%
[783]
4.66%
[538]
0.17%

Mo Respanse [20]




All the following changes cause the equilibrium to shift

to the left in the reaction below except .............

N204(g) = 2NO2(g) AH" =57.2K

Question Type: Difficulty Level
Multiple Choice Intermediate
Question Cutcome Analysis
# Answer Option
] Lowering the system temperature
5 Increasing the pressure
E Reducing the concentration of N,O,
4 Reducing the concentration of NO,
5 Mo Respanse

Jelil) A Sl dga ) OBV 2L and 406D il paen

CQuestion Lesson(s):

Mo specific lesson

ereennenenslae sl

Question Marks:

5

allaill 5ylpa ymdd
Ll 50l
N,O, S5 s

NO, S5 Jis

Responses
8.27%
[951]

9.23%
[1062]

13.13%
[1512]

69.25%
[7964]

0.1%
(1]

i}
BEEW




What is the effect of decreasing the volume of the abial ol el e Jelill gleg paa (Ll b L

reaction vessel on the equilibrium systems below?

CO(g) + 3H2(g) = CHa(g) + H20(g)

H,(g) + Cly(g) = 2HCI(g)

Question Type: Difficulty Level Question Lesson(s): Question Marks:

Multiple Choice Intermediate No specific lesson 5

Li ]
BEEE

Question Cutcome Analysis

: Answer Option Responses
The equilibrium 1 shifts to the right and the total Al Ciga 23 Jaig Cpaall dga 1 VAV Z1 —
number of gas moles decreases [7915]

The equilibrium 2 shifts to the left Dleal) dga 2 S5V # b AR
[563]

The equilibrium 1 shifts to the left and the total Sl Si¥sa dae dlalg slewll dga 1 OIRY) 1 i
number of gas moles increases [1812]

10.37%

Goadl 262 2 51 (o S B W) s

The equilibrium in both 1,2 shifts to the right

0.16%
Mo Response
P [18]




If the K, of calcium hydroxide Ca(OH), is 5.32 x 107 $sld Ca(OH); psendl€l 1€y gl Kop dad i€ 1Y)
at 298 K. What is the solubility of calcium hydroxide in

5339y pgaall€ 1€y pa 2000 Lad . 298 K e 5.32 x 107°
mol/L?

¢ mol/L

Ca(OH)z(g) == Caz+{a) + 20H_{a)

Question Type: Difficulty Level Question Lesson(s):

Ouestion Marks:
Multiple Choice

Intermediate Mo specific lesson

5
Question Cutcome Analysis

Li ]
& =
Answer Option .

Responses

1.10 x 1072

64.6%

[7429]
1.60 x 1073 1A%
[2781]
2.80 x 1077 ;;:;c
3.30 x 108

4.37%

[502]
Mo Response

0.13%

[15]



Greater definition is possible in a gastrointestinal el Sleall L) 221 el ol meay o Jyaall (K4
X-ray when patients drink a thick mixture containing Ila L psplll Sl y€ e (giing 23 s oyl dasall B8 e

barium sulfate. What happens when sodium sulfate i€ 1) N2, S0, ppssaall i€ 2] o5 Lasic Casay
Na,SO, is added to barium sulfate before it is given 2 siasall Lgitlae) I3 oyl
Jer PR e

to a patient?

BaSO4(s) = Ba?*(aq) + SO42-(aq)

Question Type: Difficulty Level Question Lesson(s): Question Marks:

Multiple Choice Intermediate No specific lesson 5
Question Outcome Analysis

& Answer Option

The equilibrium shifts to the right and the number Ba®" 5.l ligh (5:S5) 2ae dajy Guedl s JIEV) ~1

(concentration) of the barium ions Ba®" increases

The equilibrium shifts to the left and the number Ba®* psldl ciligd (55) e Jing jladl g Y ~1in

2 (concentration) of the barium ions Ba®* decreases

The equilibrium shifts to the right to produce ilall BaSO, £y cuadl sa3 GV £y
3 BaSOQ, solid

The equilibrium shifts to the lefl and the number  gg2* asylll Syl (3S55) 2ae alajg Hleadl gad IRV -
. (concentration) of the barium ions Ba’" increases
5 No Response

Responses

22.89%
[2632]

52.66%
[6056]

8.82%

[1014]

1547%
[1779]

0.17%
(9]

Li ]
= & = [




Question Type:

Multiple Choice

The figure below shows the following endothermic

reaction at equilibrium al room lemperature.

A3l A OV e T Biladl el e lE ol S ey
Tab 4 pass A Gppall ey o3 L) Siaay ke (A0 e

What happens If the flask were placed in an ice bath?

Co(H.0)s" aq) +4CT" s

e

Intermediate

= CoCly ay +6H,0p

Questicn Lesson(s):

Mo specific lesson

Quastion Marks:

5

I Question Gutcome Analysis Li ]
SN
L] Answer Option Responses
1 The equilibrium shifls lo the right and he hlue G gl g el gad Y1 T il
color increasas [1666]
The equilibrium shifts to the left and the pink color gl Goli Sy gladll pad SV 1 7o
” g
increases [7816]
) The equilibrium shifts to the rght and the CI™ 50 shyl €5 $2jag aagll gad SV Al s
: concentration of CI” long increases [823]
The equilibrium shifts 1o the lefl and the CoCl? =iyl €5 Aajeg sladl g G AL
10.26%
4 [1180]

concenlialion ol CoCl™ lons incleases




Which of the enthalpy changes in the following

reactions represents a standard heat of formation

Db ik L0 cdlelil A ghall ind) 3 il e

TAH]) R S

(AH?) 2
Question Type: Difficulty Level Question Lesson(s): Question Marks:
Multiple Choice Intermediate No specific lesson 5
Question Outcome Analysis i ]
BEEE
& Answer Option Responses
1 61.68%
=Nyg + O NO , AH=+33.2 kJ
1 2 2(a) 2{g) ——» 2(a) —
1 = —
2 Co[g} + 3 Oz(g} —_— Coz{g] ,AH=-283kJ 16.45%
[1892]
3 2S¢ + 305 —» 250535 , AH=-792 kJ 9.32%
[1072]
4 2Fe,05y — 4Fe + 30,4 , AH=1625kJ 1237%
[1423]
0.17%
5 Mo Respanse

[20]




Question Type:

Multiple Choice

Using the figure below, how much heat in (kJ) is required to
evaporate 156.1 g of water at 100°C?

(The molar mass of water is 18.02 g/mol)

Difficulty Level

Intermediate

Question Cutcome Analysis
# Answer Option
1
2
3
4

——
AH,p = +40.7kJ

. AH,gpg = —40.7kJ

3

———

AHy = +6.01k
Solid AH_; .= —-6.01kJ

o 8 NNV

Question Lesson(s):

Mo specific lesson

353
236
185
347

el Aa U (KJ) Bangy S)hall 43S La colial JSaI el ga
£100°C 5s day 2ic old) (30 156.1 @

(18.02 g/mol (glus slall 2 5all 41SY)

Question Marks:

5

Responses

80.67%
[9277]
8.17%
[940]
5.34%
[614]

5.65%
[650]

Li ]
BEEE




If an equal volumes of the solutions 0.0322 M CaCl, and 2355 CaCly Jslas (e dugluia agan Lala 5 1

0.0145 M NaOH are mixed, a precipitale of Ca(OH), o sl 0.0145 M 535 NaOH Jslaes 0.0322 M

is predicted. Which of the following is true? i s i
P 9 Cminia b Las g .Ca(OH), (o ) 05S3

Solubility Product Constants at 298 K for the 34 Ca(OH), o$5all 298 K aic 43 Juals oyl
compound Ca(OH), (Ksp = 5.0 x 10°9) (Ksp = 5.0 x 1079
Question Type: Difficulty Leve Question Lesson(s): Question Marks:
Multiple Choice Intermediate No specific lesson 3
Question Cutcome Analysis Li ]
&=
S . Answer Option Responses
Qsp = 8.5 x 1077 and a precipitate will not form ey OsSu Y Qsp = 8.5 x 1077 63.08%
1 [7254]
5 Qsp = 2.6 x 107" and a precipitate will form audy (35S @Sp = 2.6 X 1073 17.93%
[2062]
. Qsp = 4.9 x 107'° and a precipitate will form iy 055 Qsp = 4.9 x 10710 s
" [803]
P Qsp = 2.5 x 107 and a precipitate will not form ey sSu Yy Qsp = 2.5 x 107 11.76%

[1352]




Question Description:

Which of the following statements is true about the

two figures in the table below?

Polial Jganll L3 (ICANL (3l Lod dagaca 2000 ciylall g

150 Cal 5.0%x10°J
Y X
Question Type: Difficulty Level Question Lesson(s): Question Marks:
Multiple Choice Intermediate No specific lesson 5

Question Cutcome Analysis

# : Answer Option

1 The energy in X is greater than in Y
2 The energy in Y is greater than in X
3 The energy in X is 355 Cal

i The energy in Y is 3.6 x 10° J

5 No Response

Y A leia ,sSIX o 2a)
X Algia 58lY asl
355 Cal (gyld X A 3Ll

3.6 X10° J gla Y 3 sl

Responses

19.57%
[2251]

76.19%
[8762]

1.45%
[167]
2.71%
[312]

0.07%
(8]

Li ]
HEEE




Syl aslall e gaogll d8lbs il Difference between potential and kinetic energy

Which of the following statements is true about the

two figures in the table below?

Sobial Joaall & Ol ey Led dasaa 300 el $!

150 Cal

~ ¥

5.0x10°J

The energy in X is greater than in Y

The energy in Y is greater than in X

The energy in Y is 3.6 x 10° J

The energy in X is 355 Cal

Y 2 leia ,SI X 3 aal
X leis ,8lY 3 asl
3.6 X 107 J gl Y 3 il

355 Cal (gl X 3 dalkal)




Question Description:

If 250 g of ethanol at 75.0°C loses 4655 J of heat, Bl (e 30 75.0°C @iyl dnpn JslY) (e 250 g a3 13
what is the final temperature of ethanol? S A5l 5ylad) Aoy Lad L 4655 J la)lske
(Specific Heat of ethanol - 2.44 J/ (g. OC} (2-44 J/ (9. °C) o il Le gill 5))5all)
Question Type: Difficulty Level Question Lesson(s): Question Marks:
Multiple Choice Intermediate Mo specific lesson ]
Question Cutcome Analysis
# Answer Option : Responses
1 82.600 45.61%
[5245]
2 67-400 46.48%
[5345]
y 59 SOC 2.41%
. : [277]
0 5.43%
1 45'8 C [624]
0.08%
5 Mo Respanse

(91

Li ]
BEEE




Which of the following is true regarding the figure

below?

~-dFe(s) + 304(g) -

Question Type: Difficulty Level

Multiple Choice Intermediate

Question Outcome Analysis

Falial JAIL ey Lo e 2l Laa gl

Question Lesson(s): Question Marks:

No specific lesson 5

i ]
EQ=RENE

Responses

Answer Option

8.7%

The reaclion is endothermic
This reaction is used in the Cold-Pack
This reaction is used in the Heat-Pack

The sign of enthalpy change is positive

Mo Response

E)ba.u \_;all.n Jelall i

Byl Balell 3 Jelall s aadnd 10.77%
[1239]

Ll salesd) qa Jelall 1 aaanug 75.85%
[8723]

4.55%

Lage hall hadl 4l 5L 55

0.12%
[14]




Two pieces of aluminum and iron were left to sit in
the Sun at the same time and for the same length of
time. What is the mass of the piece of iron (g) whose

temperature increases by the same amount as the

piece of aluminum?

iy Sl paih A eadll 3 yaally pgaialY) (e ikl c€5
oty L dapd a3 A () wasd) Lekad ANS La (Al sadl)
Qr):\.u]‘)rl M E)b:n :L‘,‘s_J.‘n EJL‘U J1.\iﬂ.

pasialy)

Aluminium

Sl
Substance

47.0g

Mass k<l

0.897

Le il )15l

Specific Heat J/(g. °C)

30.0°C

AT

Question Type: Difficulty Level

Multiple Choice Intermediate

Question Outcome Analysis

Answer Option

Mo Response

Question Lesson(s): Question Marks:

No specific lesson 5

Li ]
EQERENM




Which of the data in the following table is correct?

Question Type:

fiama Jul Jeaad) 3 sylgd Sl e gl

Slall sl A el 3L Ghall gaadl 3 il el A
The sign of the enthalpy change The change in enthalpy Process Number
positive dinga exothermic 5l 31k C:HsOHis) — C HsOH) 1
posilive Lngsa | endothermic  5)all dals NH;() — NH;(s) 2
negative idl. | endothermic 3l ials CH3OH(I) — CH3OH(g) 3
negative Al exothermic  5all 53yl H:0(g) — H0() 4

Difficulty Level

Question Lesson(s):

Question Marks:

5

Multiple Choice Intermediate No specific lesson
Question Cutcome Analysis i ]
BEEE
w Answer Option Responses
1 1 only L] 5.47%
[629]
2 4 only Yai 4 79.36%
[91286]
. 1 : 2 2 3 1 5.14%
[591]
: 3.4 453 e
[1142]
0.1%
5 Mo Response [12]




What mass of propane (C;H) in unit (g) is bumned to Wi s A (0) 32 (CoHg) pugpdl A6 L
release 9985.5 kJ of heat? il ow 9985.5 kJ £y

CgHg{g) - 502 {g} — 3002{5:, - 4HQO{Q)

The enthalpy (heat) of combustion of propane -2219 kJjmol A AHS, sl 3lsal Bm)
AH oy = -2219 kJ/mol (44.097 g/mol juy,ll Aol A5l

(Molar mass of propane is 44.097 g/mol)

Question Type: Difficulty Level Question Lesson(s): Question Marks:
Multiple Choice Intermediate No specific lesson 5
Question Outcome Analysis i}
&
# Answer Option Responses
81.75%
1
198.0 o
5.90%
z 154.4 =
7.17%
4.9%
4
66.20 =
0.19%
5 Mo Respanse

[22]




Question Type:

Multiple Choice

Question Outcome Analysis

What is the enthalpy change A H for the reaction

below?

EHQS{QJ +302(g] —_— 2H20{|) + 2802(9} F AH = ?7?

using the following equations:

S(s) +O021g) — SOy

Ha) + % Oy — H0p , AH% = -285.8 kJ/mol

Hag) + Sig) — HaSy

Difficulty Level

Intermediate

# . Answer Option
1
2
4
5 Mo Respanse

-603.2kJ

-562.0kJ

—-1206.4kJ

-1124 kJ

Tolial Jelill AH ghall (gpadl 5 il jluia L

A H% = ~-296.8 kJ/mol

. AH% = =20.6 kJ/mol

Question Lesson(s):

Mo specific lesson

sl e alaall Laadni

Question Marks:

5

Responses

12.04%
[1385]

6.4%
[736]
8.37%
[962]
73.03%
[8398]

0.17%
[19]

i}
HYEW




If the enthalpy change of the following reaction

is ~1368.4 kJ

CgH5OH(|) +302(g]

What is the enthalpy of formation of C,HsOH,

S Jelall gl gadl L3l oS )

~1368.4 kJ s

— 2002(9] : 3"'20(“

CQ_HSOH{“ ,_,:1353 E-Jll_);. JL‘LEA Lad

COy Substance :aldl

-286

-394 AH dudll g€l 5l

kJ/mol

standard enthalpy of

formation

Question Type: Difficulty Level

Multiple Choice Intermediate

Question Outcome Analysis

# | Answer Option
1
2
3
4
5 Mo Respanse

Question Lesson(s):

No specific lesson

—277.6kJ/mol
-102.1kJ/mol
+142.9kJ/mol

+173.8kJ/mol

Question Marks:

5

Responses
76.3%
[8775]
8.52%
[980]

7.36%
[846]

7.57%
[871]

0.24%
[28]

Li ]
BEEW




In which of the following cases does the random Silasaal (29 8Y1) Ldlslall A<padl alag 4000 YLD ,-éi &

motion (entropy) of the particles of the substance

) 5Ll
increases?
COztgl —— COz{aq} 1
ZNDQ'Q} _— N204 (a) 2
CH3;0H(s) — CH30H(D) R
Question Type: Difficulty Level Question Lesson(s): Question Marks:
Multiple Choice Intermediate Mo specific lesson 5
Question Cutcome Analysis Li ]
FEED
3 Answer Option Responses
2 1 only Lai ] 3.76%
[432]
2 only Lias 2 et
2 [e10]
7.92%
, 2,3 332
[911]
2 3.4 4 3 3 80.29%

[9233]




